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Dear Colleague,

1) Please check the results of your experiment carefully. They are marked.

(

(2) Please reply within one week.

(3) Please reply even if everything is correct.
(

July 21, 2016

4) IMPORTANT!! Please tell WHICH papers you are verifying. We have lots of requests out.

(5) Feel free to make comments on our treatment of any of the results (not just yours) you see.

Thank you for helping us make the Review accurate and

Sincerely,

Simon Eidelm
BINP, Budker
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YOUR NOTE ~ “ABLIKIM 12N quotes B(4:(25) — w0hc) - B(he — vnc) - B(ne — KTK™n) = NODE=M026R15;LINKAGE=AK
(2.11 + 1.01 + 0.32) x 106 which we multiply by 2 to account for isospin symmetry.
YOUR NOTE ~ 2ABLIKIM 12N reports [[(no(1S) — KKn)/Teoall x [B((25) — 70hc(1P))] x NODE=MO026R15;LINKAGE=AM
[B(ho(1P) — nc(1S)7)] = (4.22 £ 2.02 4 0.64) x 105 which we divide by our best
values B(1(25) — 70h (1P)) = (8.6 + 1.3) x 10~%, B(h.(1P) — n.(1S)7) =
(51 + 6) x 10=2. Our first error is their experiment’s error and our second error is the
systematic error from using our best values.
3 The quoted branching ratios use B(J/4(1S) — ¥1c(1S)) = 0.0127 + 0.0036. NODE=MO026R15:LINKAGE=E
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